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a) 1.1 m + 230 cm + 8600 mm

In mm In cm In m 10 m 1 m 10 cm 1 cm

b) 13.4 litres + 1580 cl + 2500 ml

In ml In cl In litres 10 1 1 cl  l   l 10 cl
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a) 4.73 m – 210 cm

In mm In cm In m

b) 18.6 litres – 7900 ml

In ml In cl In litres 10 1 1 cl  l   l 10 cl

1 m 10 cm 1 cm



©  CIMT, Plymouth University

MEP: Book 4
m e p

LP 77/7

a) 9
10

90
100

4.9

10.23

7.04

=

=

=+

4 + =

=

=

4 + =

=

=

4.90

= =

b) 6.81

2.7

=

=

=

=

=

=

= =

–

=



©  CIMT, Plymouth University

MEP: Book 4
m e p

b)

c)

a)

1 

  

6 7 8 

1

1 

d)
1 

LP 78/1a



©  CIMT, Plymouth University

MEP: Book 4
m e p

LP 78/1b

0.6 0.7

1
3

0 12
3

0 10.1 0.4 0.5 0.60.2 0.3 0.7 0.8 0.9



©  CIMT, Plymouth University

MEP: Book 4
m e p

LP 78/4

a) 7.3 + 6.81  =    

b) 22.8 – 13  = 

T U t h

T U t h



©  CIMT, Plymouth University

MEP: Book 4
m e p

LP 78/7

a) 1.1 + 42.6 + 0.8   b) 62 + 6.2 + 0.62

c) 22.5 – 13.7  

T U t

d) 32.8 – 13

T U t

e) 32 – 13.7

T U t

≈

T U t

≈

T U t h

≈ ≈ ≈



©  CIMT, Plymouth University

MEP: Book 4
m e p

LP 79/6

a) 2 4
0 3
7 2+

1
8

b) 2 1
5 6
0 7+

4 c) 3 6
7 2
5

1
9 8+

21

4

d) 0 8
9 4
6

0
2 90

006
4

+ 1

e) 0 5
4 6

1 7+

1
5

32

f) 3
0 9

0 5+

1

3



©  CIMT, Plymouth University

MEP: Book 4
m e p

LP 79/7

a) 9 6
6 2–

4
1

2 1
9

4
8–

b) 9 5
2 6–

8
5

c) 5

4
2

5
6 71

8
–

f) 4 0
5 6– 3

d) e) 5 6
3–

4
93

6



©  CIMT, Plymouth University

MEP: Book 4
m e p

a) b)1 unit c)1 unit 1 unit

LP 80/1a



©  CIMT, Plymouth University

MEP: Book 4
m e p

LP 80/1b

d) 1 unit e) 1 unit f) 1 unit



©  CIMT, Plymouth University

MEP: Book 4
m e p

LP 80/5

1
3 0.5

1
4

5
9 0.3 0.6 0.7

0.25
1
2

3
10

8
20

4
9 0.4

8
16

3
4



©  CIMT, Plymouth University

MEP: Book 4
m e p

LP 80/8

a) a + 3.4  =  5.6 b) b – 3.1  =  0 c) c + 2.7  =  10

a  =  b  =  c  =  

d) 7.8 + d  = 12.3 e) 8.2 – e  =  6.4 f) f – 11.9  =  6.3

d  =  e  =  f  =  

g) g + g + 5.4  =  10 h)      0.4 + h  = 0.8 – h

g  =           h  =  

i)
2
5

+ i  =  1.3 j) j – 0.8  =  1
5
10

k)
3
4

 – k  =  0.07

i  =  j  =  k  =  
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a) b)51 + 

193 – 40 
4200     6 350 + 

c) 5200 –          =  (620 + 300)     2×

d) (7000 – 2500)     9   <            – 300÷
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a)
2
5

 m        38 cm b) 0.7 kg        70 g

c)     £200 50 p        £200 
1
2

d)    
3
4

 hour        75 min.

e) 48.7 m        48 m 7 cm

f) 2 
2
7

 weeks        2 weeks 3 days
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LP 84/4

a)    b)

40 cm  =    mm 30 mm  =    cm

508 cm  =    mm 8060 mm  =    cm  =     m    cm

70 m  =    cm 7800 cm  =     m

68 m  =    cm 520 cm  =    m    cm  =   mm
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a) b)

73 litres  =    cl 40 ml  =   cl

57 cl  =    ml 93 ml  =    cl     ml  =      cl

6.2 kg  =    g 1800 g  =     kg     g  =   kg

5.8 litres  =   cl 450 cl  =    litres    cl  =    litres
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LP 84/6

3050

26 1
3

1
2

+

29 1
8 +

82 –

75.2 + 5.2

78 2
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34 1
3

– 27 1
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– 14
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P  =

b)
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A  =

c)

A  =

P  =P  =

LP 85/4

0 21 43 5
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LP 86/3
For demonstration only!

a

b

P

A

1 1 1 1 1 1 1 1 1 1 1 1

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

2.2 2.4

0.1 0.2

P  =

b  =

a  =

A  =
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